2015 8
1.00
10
M
M<50 1.2%
50 < M<150 0.8%
M= 150 1000 /
M
M<50 1.5%
50 < M<150 1.0%
M= 150 1000 /
L
L<365 0.5%
365 < L<730 0.3%




L= 730

1.5%/
0.25%/

o N o o

30%

3%

5%

%

0 140%

1
0 140%

10%;

0 140

20%

40%

140%




/
T+ 2
/
M
M<50 1.2%
50 < M<150 0.8%
M> 150 1000 /
M
M<50 1.5%
50 < M<150 1.0%
M= 150 1000 /




1.00
10
1
2 T+2
3
T+2
1
L
<365 0.5%
365 < L<730 0.3%
L> 730 0
2




1000

20

10%

10%

20

20




20%

20%
10

30

~N o o B~ W N

Ex 0.25%+

0.25




2 1.5%

H=Ex 1.5%+

29

29

a ~ W N -

_ (Pl —F) 363
W= r E? 75 4 A

P:1
Po




D
R
1
R
Hy
R< 5% 0 Hy=0
o
Hy = max (0,(R—5%)x 200 x P X FXaes—
S5%<R< 12% 20%
HEGRAENA L HRGLHRANAE)
o
Hy =max (0,(R—12%)x 30% x By xF Xzest T x 200 x
R>12% 30%
By % Fx %— HEGEAENEEHRALHAMIER)
20%
Hy = Div = F = 20%
H = min{Hy, H;)
Diw
F
2
R H
R< 5% 0 H=0

5%<R< 12%

20%

]
H = m; " — 3 EA o E N ——
max (0. LB— 5% 20% xR =%

HEGRAENE RS LHANAE)

R>12%

30%

n
H=max (0,(R—12%)x 30% = B = F Xzet T 200 x




PrxFx——— AERRFENAC T RN L ARHEE)

¥65

R< 5%

H=0

5%<R< 12%

20%

n
H = mj " - S ER o E N ——
max (8. LB— 5% a0 20% xR =

HEGRAERA T RGLHRERAE)

R>12%

30%

o
H=max (0,(R—12%)x 300 x Fy x F 3 ——+ 7% x 20% x

365

By X Fx——— HEAEAENE S RN AR

¥65

T+7




15

10




